(a) Complete the table for y= x2 -2,
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(b) Draw the graph of y= x2-2.
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(c) Use your graph to solve the equation x2 -2 =0.
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(a) Complete this table for y = x2 - 3x.

x 2 | -1 0 1 2
y | Ip]| 4 0 2 [—2| o 4

[2]
(b) On the grid draw the graph of y = x2 - 3x.
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(¢) Use your graph to solve the equation x2 —3x=2.

-0-§ 3-8
(c) x= orx= 2]
B Turn over
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(a) Complete this table for y = 2x2 - 6x—1.
-0.5 0 0.5 156 2 25 3 35
25 -1 |-3-5 55 | -S| 85 | -1 25
]
(b) Draw the graph of y = 2x? - 6x— 1 for—0.5 < x < 3.5.
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(¢) On the grid, draw the line y=2x-5.
.............................................................................................................................................. 3]
(d) Use your graphs to solve 2x2 —6x~1 =2x 5.
sc =0 - é
(d) 2]
X = 3-45
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11 A ball is dropped from the top of a cliff into the sea.
The height, h metres, of the ball above sea level, t seconds after it is dropped, is given by

h=90-5¢2.
(a) Write down the height of the top of the cliff above sea level. q
(a)
(b) Complete this table of values for the equation h = 90 — 5¢2.
t 0 1 2 3 4 5

h Q0| 3§ | 70| s 10 95

(c) On the axes below draw the graph of h= 90 — 5¢2, for values of tfrom 0 to 5.
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10 A ball is thrown into the air.

The height, h metres, of the ball above the ground after a time t seconds is given by

h=25t-5¢2,

(a) Complete the table of values.

25() -5¢J* = 20

.................................................................................................................................

(b) Draw the graph of h= 25t— 5t for tfrom 0 to 4.

= i A
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20 % e
Height /
(h metres)
10
0 l’L
0 1 2 3 4
Time (t seconds)

(c¢) Use your graph to estimate

(i) the maximum height of the ball above the ground,

(cXi)

3L -5

(ii) the time when the ball is 15m above the ground.

(ii)
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11 (a) Complete this table for y=x3—4x+1.

x | =25 -2 -1.5 -1 -0.5 0 0.5 1 18 2

y |—-4.625 1 3.625 2L 2.875 1 -0875| -2 |-3-62%| 1
(-1)3 /4,(.4)4—( (- 3-—4«:(44

c =l 4q £ -4 c —l.625

(b) Plot the remaining points and draw the graph of y=x%—4x+1 for-25 < x<2.
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(¢) Use your graph to estimate the value of x when y=-3.

---------------------------------------------------------------------------------------------------------------------------------------------------
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6 (a) Complete the table of values for y =

X 0.5 1 2 3 4 5 6

y | C 3 15 | | 075 |0-6| 0-¢

(2)
(b) On the grid, draw the graph of y = % for values of x from 0.5 to 6

6 -7

£ 4

(2)
(Total for Question 6 is 4 marks)




17 (a) Complete this table for y = 4*.

[2]

[2]

-1 -05 0 05 1 1.5 2
0.25 0.5 [ 2 4 3 16
(b) Draw the graph of y=4*for-1 < x<2.
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(c) Use the graph to solve the equation 4*=12.
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